Box Whisker Plot
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library(sas7bdat)
ds<-read.sas7bdat('http://
wolfpack.hnu.ac.kr/Spring2018/
baseball.sas7bdat') #read sas data into R
t.test(ds$Salary) #t-test HO: mu=0

One Sample t-test

data: ds$Salary

t = 19.266, df = 262, p-value < 2.2e-16
alternative hypothesis: true mean is not
95 percent confidence interval:

481. 1522 590. 6996

sample estimates:

mean of X

535. 9259
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boxplot(ds$Salary,main='"Box plot of
Salary")$out #graph box plot
library(nortest)

ad.test(ds$Salary) #check Normality
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Box plot of Salary Square Root Transformation
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> boxplot (ds$Salary, main="Box plot of Salary')$out
[1] 1975.000 1900.000 1861.460 2460.000 1925.571 .
[10] 1670.000 1600. 000
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Anderson-Dar|ing normality test
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data: ds$Salary
A =9 3077, p-value < 2.2e-16
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dsO<-na.omit(ds) #delete missing value

boxplot(sqrt(ds0$Salary),main='Square
Root Transformation')
boxplot(log(ds0$Salary),main="Log
Transformation’)

Lambda=0.15 Tukey Power Transformation

32

library(rcompanion)
tukey.ds<-transformTukey(ds0$Salary)
boxplot(ds0$Salary”0.15,main='Lambda=0.
15 Tukey Power Transformation')
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t.test(log(ds0$Salary))
t.test(ds0$Salary”0.15)

data: log(dsO$Salary)
t = 108.1, df = 262, p-value < 2.2e-16
alternative hypothesis: true mean is not
95 percent confidence interval:

5.819258 6.035185

271 92 95% AME|FZH2 (5.819, 6.035)-exp(x)
o= 95% Al2|A7H2 (336.72, 417.87). - = 81.2

data: ds0$Salary™0.15

t = 123.08, df = 262, p-value < 2.2e-16
alternative hypothesis: true mean is not
95 percent confidence interval:

2. 415085 2.493615
(¥12)°0.15 95% L2712t (2.415, 2.493) - (x)"(1/0.15)

1= 95% AlZ|T1ZHS (3571, 4414). - = 843
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library(sas7bdat)
ds<-read.sas7bdat('http://
wolfpack.hnu.ac.kr/Spring2018/
baseball.sas7bdat') #read sas data into R

library(ggplot2)
ggplot(ds, aes(x=Position, y=Salary)) +
geom_boxplot(aes(colour =
Position),outlier.colour=1, na.rm=T,
outlier.shape = 2)+
geom_jitter(width = 0.2)+
gotitle('EX[ME 18 AX} O8!)+
ylim(c(0, 2500)) +
xlab('M= ZX[M")
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ggplot(ds,aes(x=Position,y=Salary,
fill=Division))+
geom_boxplot()
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